

TIKI BAR TIMES

July 2024

President's Perch

Parrotheads...

Half the year is behind us and The Club's six months interim report is due to "Parrot Heads in Paradise " (PhiP). This report monitors The Club's events-participation-donations.

I'm happy and proud to say that the 2024 1st and 2nd Quarterly Reports are greater than the same period in 2023.

Although Membership is lower then the last several years, participation in events is greater. The Parrothead members in our Club today know how to "Party with a Purpose"!

See the 2024 1st & 2nd Quarterly Reports following this page.

Phins Up! Bob Simard President



P	HUN COAST PARROT	HEAD CLUB			
2024 1st Quarter Activity Report 01/01/2024 to 03/31/2024					
			Event	Total	Gross
Event	Date	Attendance	Hours	Hours	Donations
Board of Directors Meeting	11-Jan	6	3	18 \$	-
Donation - Turtle Festival	11-Jan	6	1	6 \$	50.00
Phlocking @ The Pub to benefit Grace	27-Jan	52	3	156 \$	228.00
Community food through 50/50 tickets	27-Jaii	52	3	150 \$	220.00
community rood timough so, so tienets					
Non-parishable food items donation to	27-Jan	45	1	45 \$	1,500.00
Grace Community Food Pantry					
Board of Directors Meeting	6-Feb	6	3	18 \$	_
bodia of birectors weeting	0105	, and the second	J	10 9	
Trivia event to benefit Club charities	18-Feb	51	3	153 \$	255.00
Phlocking at RiverGrille to benefit	25-Feb	62	3	186 \$	220.00
Flagler Humane Society thru 50/50					
Pet food and supplies for donations	25-Feb	55	1	55 \$	1,500.00
to Flagler Humane Society	25100	33		JJ 7	1,500.00
Bunco Party to benefit Relay for Life	3-Mar	61	4	244 \$	1,720.00
Board of Director Meeting	5-Mar	6	2	12 \$	_
Board of Director Weeting	3-Iviai	Ü	2	12 J	_
Social at The Landing Strip with Don	9-Mar	35	3	105 \$	-
Middlebrook to support local Business					
A1A Road Clean Up - Community Service	15-Mar	12	2	24 \$	-
	Totals	397	29	1022 \$	5,473.00



2024 2nd Qu	uarter Activity Report 04	1/01/2024 to 06/30	/2024		
			Event	Total	Gross
Event	Date	Attendance	Hours	Hours	Donations
Miniature Golf Outing to benefit	7-Apr	50	3	180 \$	210.00
The Club Charities					
Board of Directors Meeting	15-Apr	6	3	18 \$	
Phlocking at Beach Front Grille to benefit the Food Bank through 50/50 tickets	28-Apr	52	3	156 \$	150.00
Non-parishable food items donation to Grace Community Food Pantry	28-Apr	45	1	45 \$	1,200.00
Farot Reading Party to benefit Alzheimer's	4-May	26	4	104 \$	600.00
Club's 21st Birthday Party to benefit our Charities	18-May	65	3	195 \$	1,635.00
Social Event at the Bowling Alley to Support small local business	14-Jun	40	3	120 \$	
Phlocking at RiverGrille to Benefit Club Charities through 50/50 tickets	23-Jun	50	3	150 \$	185.00
Non-parishable pet items donation to Flagler County Humane Sociaty	23-Jun	40	1	40 \$	750.00
Board of Directors Meeting	24-Jun	4	3	12 \$	
Member donations to ACS	30-Jun	0	0	0 \$	1,350.00
	Totals	378	27	1020 \$	6,080.00





President Bob Simard



Vice President



Secretary Debbie Lashinsky

Know Your Officers

MJ Graham



Membership Muriel Hebert



Treasurer **Donna Senn**



Communications **Mary Anne Moore**

E-mail: phuncoastphc@gmail.com

Address: PO Box 351614, Palm Coast, FL 32135

Web Site: phuncoastphc.com



Birthday Wishes for.... July

John Ives	07-04
Kay Lynn Plympton	07-08
Kathryn Bono	07-12
Dale Hench	07-12
Constance Shepard	07-12
Andrew Church	07-17
Howie Lee	07-17
Sharon Smith	07-17
Walter Kulwicki	07-18
Connie Shaffer	07-21
Larry Milazzo	07-26
Bill Senn Sr.	07-27
Richard Caravan	07-31





Mark Your Calendar!! Phun Coast Events Details on following pages

Date	Event	Where
7/17/24	Sharon Smith's Birthday	Golden Lion Café
7/26/24	July Phlockiing	Pine Lakes Pub
8/2-3	Florida Parrothead Leadership Conference	Jacksonville, FL (final details still to come)
10/22 – 27	Meeting of the Minds	Gulf Shores, AL
10/13/24	PuttPutt	TBD
11/17/24	Trivia	Beverly Beach Club House
12/8/24	Christmas Party	TBD

Phun Coast Parrothead Turtle Nest

Location FB 10 2231 N.A1A

Due to hatch around June 30
There will be communication when the clean out is!



COME CELEBRATE SHARON SMITH'S 70th BIRTHDAY!!

When: July 17th, 2024, 4-8 PM

Where: Golden Lion Café, 501 North Ocean Shore Blvd. A1A,

Flagler Beach

Entertainment: 4-8 p.m.

Website: www.goldenlioncafe.com

NOTE: Cake served at 6 p.m. Party Gifts for everyone! No need to r.s.v.p., there is plenty of room for everyone!

For more information, Call or Text Sharon at (770) 714-3235

July 28, 2024 - July Phlocking

Where: Pine Lakes Pub

When: 3-6 PM

Benefit: Food Bank

November 17, 2024 - Trivia

Where: Beverly Beach Club House

When: 2-5 PM

Benefit: Charities

Cost: \$10 pp



August 2-3, 2024 – Phlorida Leader's Conference

Friday August 2
Around 5 Island Time will
Be a Meet & Greet in the
Amelia Room, cash bar
And live music by the pool
Dinner is own your own

Saturday August 3
9Am-3ish will be the
Leader's Meeting in the
Same room as Fridays
Meet & Greet. Coffee and
Pastries will be served.

Enjoy pool time in the afternoon and then at 7PM, 1 block from the hotel in the museum of science & history (Mosh), at the planetarium in Mosh, we will be given a laser light show put to the music of Jimmy. This show last about 1 hour. We are asking for a \$10 donation to cover expenses for the show. Beer and wine will be served.

Contact Marc Jernigan PHIS President for more information or questions at 904-773-3894 or MarcSellsJax@gmail.com

This is open to All Leaders of any Club and to any Member in Good Standing that would be interested in attending.

Hotel Reservation (\$139/nt): Phone 800-222-8733 ask for "PHINS Leadership Meeting" or Group Code 90Z [nine-zero-Z] Internet: <a href="https://www.hilton.com/en/book/reservation/deeplink/?ctyhocn=JAXJRDT&groupCode=CDT90Z&arrivaldate=2024-08-02&departuredate=2024-08-04&cid=OM,WW,HILTONLINK,EN,DirectLink&fromId=HILTONLINK,DI

04&cid=OM,WW,HILTONLINK,EN,DirectLink&fromId=HILTONLINKDI RECT

Reservation form (no cost) on next page. Reservation Cut-off Date: 7/12/24



PHlorida Region Leader's Conference 2024 Attendee(s) Form

Name(s): Club Affiliation: Attending Just the Meeting: Attending Meeting & Festivities: Got Your Room?: How many nights?:
Questions that Bother You So: (type away!):
Suggestions:
Send to: phloridarcs@phip.groups.io, cc gobnu@outlook.com



Looking Forward???



PHiP's Annual Meeting of the Minds 2024 Tuesday, October 22th – Sunday, October 27, 2024

Reservations: https://motm.rocks/registration/

The website lists places to stay.





Mark Your Calendar!! Other Events

Date	Event	Club /Sponsor	Contact
7/25-28	Riddles in the Sand	Galveston Bay Parrothead Club	https://gbphc.org/Riddles- in-the-Sand
8/2-3	Phlorida Leaders Conference	Jacksonville PHC	See write up below
8/29- 9/2	1 st Annual It's Five O'clock Key West Favorite Son Celebration	Key West Parrothead Club	https://www.its5oclockinkeywest.com/
9/12-14	Throwback Shell Beach party	Coast of Carolina Parrothead Club	cofcphc.com/tbsbp_ticket s/
10/22- 27	Meeting of the Minds	Parrotheads in Paradise, Gulf Shores, AL	https://motm.rocks

Social Event at the Bowling Alley 40 People Attended June 14





Tradewind Times

The latest edition of the PHIP Tradewind Times is now on the PHIP website. You can click on the link below to view the Tradewind Times or it can be found on the PHIP website.

https://www.dropbox.com/s/4qh79372l7gso7l/July%202022.pdf?dl=0 to view it or go to https://phip.com/ and select 'Tradewind Times' from the top menu.

ROCK THE CARIBBEAN 3

CRUISE AWAY YOUR WINTER BLUES!!!

FEBRUARY 8 – FEBRUARY 15, 2025

It's a 3-peat!! Join us as we embark on the Norwegian Epic for a 7-Night Eastern Caribbean Cruise sailing from Port Canaveral. We will visit Puerto Plata, St. Thomas and Tortola and end with a day at Norwegian's Private Island at Great Stirrup Cay.

Enjoy 2 private shows plus a Songwriters Showcase by our Hosts: John McDonald, Skootch and Highway 1.

Mini Suites Start at (very few) \$1622.94 per person double occupancy Balcony Cabins Start at \$1460.94 per person double occupancy Interior Cabins Start at \$1150.39 per person double occupancy Single Studio Cabins Available Upon Request

Above prices include cruise fare, port charges, taxes, government fees and prepaid gratuities. Balcony and Above Cabins receive Premium Beverage Package, 2 Dinners in Specialty Dining, (1 dining if ocean view cabin), \$50 Shore Excursion Credit, Per Port, Per cabin and 150 Minute Internet Package for 2 passengers.

Inside Cabins get choice of 2 of the 4 Amenities

There is a \$95 per person Entertainment Fee in addition to the prices above and is payable <u>directly</u> to Highway 1 by either Check (Mail check to Highway 1 Band, P.O. Box 320363, Cocoa Beach, FL 32932) or Venmo (Joe Battista @ Highway 1 Band).

For more information on this sailing and to make your reservation, contact
Linda Hilson at 863-326-1000 or email at

Linda@knodil.com

Atlanta Parrothead Cruise 2025

Cruise on the **Norwegian Bliss** in March of 2025!
Cast-off on Sunday, March 16, 2025 for 8 days and 7 nights, departing from **Los Angeles, California**. Visit **Cabo San Lucas**, **Puerto Vallarta**, **Mazatlán**, and **Ensenada**, **Mexico** returning on Sunday, March 23, 2025. Also, a great lineup of trop-rock music, Parrothead games and activities, and you can always count on a few surprises.

It's a Party with a Purpose Supporting the Atlanta Parrot Head Club's Fight Against Breast Cancer!

Here's what you get with your **all-inclusive** registration:
A beverage package with virtually unlimited cocktails, beer, wine, and soft drinks! A \$100 onboard credit per stateroom. All onboard meals, including a dinner at any of the eight specialty restaurants. Balcony Staterooms and Suites receive a second Specialty Dining credit per person, a \$50 Shore Excursion credit per port per stateroom, and 150 complimentary minutes of Starlink Wi-Fi internet service per person. All gratuities, service fees, port taxes, and government fees are included

All the concerts, parties, and activities provided by the Atlanta Parrot Head Club

Interior Staterooms (Category IA) starting at \$1,492 per person **Balcony Staterooms** (Category BB and BA) starting at \$1,717 per person

Club Balcony Suites (Category MB) starting at \$1,852 per person Club Balcony Suites (Category MA) starting at \$1,861 per person

Any questions please contact our agents Georgia and Fred at agents@parrothedcruise.com or 941-218-6399.

Tell them you're calling about Parrothead Cruise 2025

RendeCruise 2025!

The Party Continues

May 10 – May 17, 2025

Join us as we embark on the Norwegian Aqua for a 7-Night Eastern Caribbean Cruise sailing from Port Canaveral. We will visit Puerto Plata, St. Thomas and Tortola and end with a day at Norwegian's Private Island at Great Stirrup Cay.

Enjoy music by Joe Downy, Reggie Starrett and Jeff Brewer

Sponsored by the Panama City Parrothead Club

For more information on this sailing and to make your reservation, contact
Georgia McFarlin at 914-218-6399 or email at gmcfarlin@dremvacations.com

You can also use the QR code below

